T4

TERFR

th
PRALS

X 8

Ny M

RV

(=) AL IMEFEL LB AL a5
GEAALIAIR], AT LT I AR G MR S22, B2 FAVEAL, TTARFE AR BT 1 AR
[$&7-]) ShM— BRI S BT A i ias, AT 5AME.

fEFKSEIC 100 7T, 1 H 1 HILER 1 3%70=6.6 TTART., 8RN AR T 660 /T,
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AT MCEIT ASNET, N4 A, WA R EE S s A = 1) worsr A E], 2020 4 1 H
1 H, RMZTRETH LY R T A XY 4T 10 000 000 7T, 4EFIFA 8%, WK 34, BMEAHES
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2020 1 H 1 H, 3t 2000 000XY JG;

2020 7 H 1 H, 3t 5000 000XY JC;

2021 41 H 1 H, 3Zih 3000 000XY JG.
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2020 £ 1 H 1 H, WIAIFER 1XY 76=6.70 AR HC;

2020 4 12 A 31 H, TWiHILHFER 1XY J6=6.75 AR TiTC;

2021 4F 1 H 1 H, WIAIEER 1XY 76=6.77 AR T

2021 4F 6 H 30 H, TWHIL#N 1XY 76=6.80 AR TiIT.
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(1) THE 2020 FI 52280 AL 450
ORATF =10 000 000 x 8% x 6.75=5 400 000 (JT)
T 55 Ak PRy -
f&: FE@ TR x x TFE 5400000
b WA FILE x x 447 5400 000
@I THE A 4 T F BT 5 22580
=10 000 000 X (6.75-6.70) +800 000 % (6.75-6.75)
=500 000 (JG)
K 55 Ak PRy -
i FE@ TR x x T 500000
e KR x x HIT—ICRZERT 500 000
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i AL x X H4T 5400 000
e TR x x T f 16 000
B ARITAEK 5 416 000

(3) 1142021 4F 6 H 30 H RIS 225 AL 4%
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K55 Ab T Ay
f&: FE@ TR x x T 500000
e KR x x HIT—ICRZERT 500 000
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